
Buffer

prod = new Producer(buf);

cons = new Consumer(buf);

prod.start();

cons.start();

Buffer buf = new Buffer(3);

Runnable

<<interface>>

0..1

+start()

+Thread(target:Runnable)

0..1+run()

+run()

0..1

−buf1

−thread

−thread

−target

Thread

+Consumer(b:Buffer)

+start()

Consumer

0..1

+Producer(b:Buffer)

+start()

Producer

Sys

+start()

−buf

1
−cons0..1−prod

+run() +run()

+get():Object {guarded}

+put(obj:Object) {guarded}

+Buffer(N:Integer)

...

−N:Integer
−i:Integer


